HICI DL | Simplification

Type-1(A)
1 JTQ—\]TQ—\/72— 72— w =7 9. \/7—\/7+-J7—-\f7+ .......... w =7
(A) 8 (B) & (A)O (B) 1
(€) 4 (D) 2 (€2 (D) 3
2. X= 6146+ v6 1o U= 6466 |10, J? £3y7 37+ 37 B o o
Find the relation between x & y ? A) 3 (B) 1
| - | I [C) 2 (D) 0
XZ B+y6+ 6+ s YT {646 —16—....... oo
xﬁm;;ﬂwﬂmﬁﬁﬁ? 11. \]7—3\/74-3\/7—3\,"74-3 ......... o =7
(A) x-y-1=0 B)yx+y-1=0 A)-1 (B) 1
Cyx-y+1=0 D)x+y+1=0 cy2 (Dy -2
3. Jes+2J631263+2...... w =7
[A) 7 [B) 5 12, 7,{7,{7.\/7 =7
e i (@ e B) qis
4. \g8-388-3488-3..... w =7 715 7?
(A) 6 (B) 8 (€) 715 (D) »i5
(€) 4 (D) 2
5 J5+ \/5 By =7 13. T 77T e 10 terms = ?
(A) between 1 & 2 (B) between 2 & 3 1023 1
(C) between 4 & S (D) between 3 & 4 (A) 71022 (B) 71023
1023
6 \/5— JS— VD= = =7 (C) 710124 (D) 71024
(A) between 1 & 2 (B) between 2 & 3
(C) between 4 & S (D) between 3 & 4 14. JT\X?\EW =2
7 \/7—3\/7—3-\;7—3 ‘‘‘‘‘‘‘‘‘ w =7 (A) 7 (B) 5
C) 4 D) 3
4 Y373 o 37337 ©) e
(A — (B) —5 15, rif797 =2
12 11
o 3= 32J37 D) 3«’% -3 (A) 725 (B)
13 13
©) 721 (D) 737
8 J4+J4—\/4+\/4— .......... o =7 ™ [
Wyl =
B+1 16. oyodotfa =7
(A —3 (B) V13 a -
(A) g2 (B) ,7
V13 +1
C D) o 35 23
© (D) 213 (€) 2;553 (D) 5235
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19. 1 57 = 4, then x = ?
ar =47, dix="
(A) 3 (B) 1
(€) 4 (D) 2

20. \f1+2\/1+3\/1+4\f1+5 ...... = =7
(A) 1 (B) 2
(€) 4 (D) 3

(44 SOLUTIONS )

1. (A) J72- 72 =72 =x(Lel) 5. (B)

Doing square of bolh sides
=x2=72-x
=2x"+9%-8x-72=0
=Sx(x+9)-8x+9 =0
=x-8){x+9=0

=x=8 ['-'Xcﬁm‘t be—ve] V21 +1
— X = 2 ['-'X(}Ll"l 'Lb(‘_ _ V(‘_:|
2. A X=\/6+ 6+6........0
=X =6+x (D) 216 <21 <25
Y:J@_ 6-\/6m N \/€+1(\/2_’]2+1(\/E2+1

=>vi=6-v -..(ii)

By eq. (i) - eq.(ii)
XZ r );2 =¥+ y

=>x-y-1=0 6. (A) \/5_ NG
3. Q) 63+2y63+ 2963,

= x2 =63+ 2x

=25<x<3
So, It's value lie between 2Zand 3

oo =x[Let) Sx2=5-%
=>x2+x-53=0

SxE-WXFTx-63=0 “1+J1+20
= X(x=9+7(x-9=10 =XE T
=>x=9 -~ xcan'lbe- ve

[ ] V21-1 ‘

_ =>x= [ xcan'tbe - ve]
4. (B) JSS—3\/88-.%/88........:x(_LcI.)

— x* = 88 - 3x V16 <21 <25
=x2+11x-8x-83=0 - _
= x(x +11) - 8(x + 11) = 0 L V16-1 21-1 25-1
= (x - 8)(x +11) 2 2 2
=x=8 ['.'X('ﬁn‘lb(l—\fﬂ] =15<x<2

So, I's value will be belween 1 and 2

n HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
0141-2711489, +91-7073909991 | www.motherseducationhub.org



7. (A)

8. (Q)

9. (Q)

10. (C)

11, (A)

12. (D)

7w a3

=x2=7-3x
=x2+3x-7=0

-3+49128  37-3
2 2
As we know,

Lf \/ai bvyaFbyatbyaF. e =N
Jia-3b’ +b

2

So, \/4+\/4—— Jd+d—. .o
CJ4xa-ax(1P 41 1341

2 2
\/7—\!7+\f7—-\!7+ vrer 09
JAx7=3x(1)" -1 s

2
\/7+3\/7—3\/7+3.J7—.- .00
| JAXT=3x(3) 43 e

2
\/7—3\/7+3\/f...m

2

=x{Lel}

Then n=

I 1 1 17

| B
TATNTST = 72 X7 x 7 x 7 = T

13.

14.

15.

16.

17.

18.

19.

20.

(D)

(A)

(D)

()

(B)

(B)

(D)

(D)

TATATAT oo 10 terms
; l\_|| 1 B |ll = |_,1\_||n s
=7 T T A AL
1
2
! 111 I
INTNTNT oo i :71-2 _
11,1 I3
J7_W = 78w T 7w

Illll Hh

24‘2*2-@ — D4 16 v 25 — 9%

11 |
== 1 )
2 72 by _]_ 6 v 108

1 L 3 E 1
=2 Ix9 v =3"x9" =3
T
X
.\/;\‘ = 4
= x4—-1

=>x'=4 =>x=2

\/1+2\/1+ 3Jl+ a4 1+5+ o0 =3
3=0=1+2416 = {14241+ 325
:\/1+2J1+3\/1+4m
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